This graph shows the fuel consumption of a scooter with a full
tank of gas at the beginning of a journey.
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a) Write the coordinates of the points where the graph intersects
—
the axes. Determine the vextical and horizontal intercepts.
. . . . —
Describe what the points of intersection Tepresent.

b) What are the domain and range of this function?
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This graph shows how the
height of a burning candle
changes with time. ]
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a) Write the coordinates of the H LWQPF é k f *‘N
points where the graph
intersects the axes. .J +°
Determine the vertical and

e |f
horizontal intercepts. qu

Describe what the points of

intersection represent.

b) What are the domain and
range of this function?
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This graph shows the cost of publishing a school yearbook
for Collége Louis-Riel in Winnipeg. = JoDo
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The budget for publishing costs is $4200. What is the maximum

number of books that can be printed?
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